Algebra 1 Review for Midchapter test

MCT 3.1-3.4 is tomorrow



Find the slope of the line that passes through
(0, —4) and (3, 2).




Find the rate of change
m=0_ _ p




Find the slope of the line that passes through each pair
of points.
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The average cost of online photos decreased
from $.50 per print to $.15 per print between
2002 and 2009. Find the rate of change in the
cost. Explain what it rgeans.
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Graph 3x@-4 by using the x-and y-intercepts.
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Graph each equation.
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_Sotve each equation by graphing.
22. 0=16 — 8x 23. 0=21+ 3x




24. —28=10 25. 25x—225=10

26. F "I&M- Sean’s class is selling boxes of popcorn
to raise money for a class trip. Sean’s class paid $85 for
the popcomn, and they are selling each box for $1. The
function y = x — 85 represents their profit y for each
box of popcorn sold x. Find the zero and describe what it

means in this situation.
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Y varies-directly as x. < KX
E.

Write an equation relating x and y. - .
What is the value of y when x=44? ! g‘ - K 8
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Graph y=3x
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